H & 0l & AHS B Ml A

A ARiE
M CAl=3
Eel: TAISSIAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ar Bt 22,774,502 19,554,968 3,219,534
= 4,714,545
[ 315,000
= 3,663,439
CH 1,500,000
= 12,581,518
CAI=E 3,934,200 1,793,200 2,141,000
= 380,000
o 3,554,200
CAISEALY 3,934,200 1,793,200 2,141,000
== 380,000
o 3,554,200
el EEFETAIIMRD] 428,920 163,920 265,000
201 2= 5,120 5,120 0
01 AtR2t2lt] 5.120 5,120 0
oAHHYR = SEH|
8,000& »4E 160 5,120
202 04l 4,800 4,800
01 =LHA LI 4,800 4,800
oitgJ|IZ2SHER =
20,0003 x 1 »60! 1,200
o=l 2R =M
20,0003 28 90! 3,600
203 HR=&H] 4,000 4,000
03 A=A R =AH] 4,000 4,000
SUHE AU =X
1,000,000 x4 71 4,000
401 AIZHIX S0HH 415,000 150,000 265,000
01 AlZH| 415,000 150,000 265,000
cZIANTZ EFZ Az2c
50,000,000& *14! 50,000
cdEEd= ARl
100,000,000 *14] 100,000
oA IHE AtFAl EXI0
265,000,000 265,000
“eE3d xd & 2el 129,900 1,129,900 1,000,000
201 ger=3| 28,700 28,700 0
01 At 2|l 6,600 6,600 0
o33 =32 Ul St
500,000 x6& 3,000
oZd &2 ABE S 7¥
300,000& * 122 3,600
02 S3=4gl 22,100 22,100 0
oZ¥ & -5tk AR
400,000 12& 4,800
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2A:

3 E/Tih—%gF
Eel: TAISSIAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oZd MIILs 400,000& 123 4,800
oA BhrHE
250,000 23] 500
oZHEANEE RANE=>
1,000,000& 123 12,000
202 04l 1,200 1,200
01 2LHoIH 1,200 1,200
o= 0l 20,0003 x38 20 1,200
401 Al&EI L2 HE] 100,000 1,100,000 1,000,000
01 Al&H| 99,000 1,099,000 1,000,000
CHHDRIBY £2 U BAFHIAY
99,000,000 * 14 99,000
03 Al 20HHI 1,000 1,000 0
CHHDRIBY 42 U AWML
1,000,000 *14] 1,000
CAls &4 - Sfusxy 60,000 86,000 226,000
= 30,000
= 30,000
401 Al HIZ S 0HbI 60,000 86,000 226,000
= 30,000
[Ea 30,000
01 A28l 59,100 85,100 226,000
ostuE I HAY 59,100,000 *1IH £ 59,100
s 29,550
s 29,550
03 Al 20HHI 900 900 0
osStu=EAGAY =d
900,000 *17H A 900
= 450
= 450
=52 &Y OIS0 = BEI| Alg 2,786,880 186,880 2,600,000
201 ZBt=Ehl 26,880 26,880 0
01 AtR2t2lHl 1,880 1,880 0
om=Xo My BUSI| % S WA
60,0002 * 150K 900
omHo Mg US| ddz ARARYE =
g 70,0002 7 H =23 980
03 A=Y 25,000 25,000 0
o202348 =52 dY 2=)| 82
25,000,000 * 14 25,000
401 Al HIZ R 0HbI 2,760,000 160,000 2,600,000
01 AlZ28| 2,758,840 168,840 2,600,000
omHo Mg USI| =AM X At=2el
158,840,000 * 14! 158,840
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SA ARIEH
M CAl=3
Eel: TAISSIAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=M =AXT Xl 01
2,600,000,000& * 14 2,600,000
03 Al =2 0HHI 1,160 1,160 0
omHo Mg BEI| #IAM X A=zl
1,160,000& *14] 1,160
AR 2| X< H & 18,000 16,000 2,000
207 AR 18,000 16,000 2,000
01 HESHI 18,000 16,000 2,000
oMIAEEAAY EHl E
18,000,000 * 14| 18,000
LHHMFEXNE 10,500 10,500 0
301 EtE N = 3,000 3,000
11 #AIAMHIXIE S 3,000 3,000
oYHSAL WE FA
100,0002 *30&H 3,000
307 @I2t01 & 7,500 7,500
02 LB MAHEE 7,500 7,500
o JH|AKX Ual &4 XA
100,000 x45E #1323 4,500
o= LHE=AHK Ual F4 K&
100,0002x30E *13] 3,000
sME AZA 200,000 0 200,000
=S 200,000
401 Al HIZL 201 200,000 0 200,000
= 200,000
01 AlZ8| 200,000 0 200,000
o023 SXANElUss ZdAE
200,000,000 %14 2 200,000
< 200,000
CAlE &d - dEEds DY (HEAY) 300,000 0 300,000
< 150,000
[Ea 150,000
401 Al HIZL S 0HYI 300,000 0 300,000
< 150,000
s 150,000
01 Al&H| 299,100 0 299,100
ol EaB= LYY
299,100,000 » 14 299,100
= 149,550
Ea 149,550
03 AlESTHYI 900 0 900
ocMEEAE RAAMY =X
900,000& *14] 900
< 450
T 450

3




2A:

ARSI THBH D}

—od

S HEY HOESd ZdAE
Ciel: mEl HOIEY 22 2% (12l M2
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Y HOIS2 &AL 335,271 299,099 36,172
HSY HOESE 22 29 203,271 147,099 56,172
Y HIOIS& 2l 203,271 147,099 56,172
101 @124l 138,668 83,49 55,173
M IIRHZ2Z2XSE+ 138,668 83,49 55,173
CBYLHNIBY TYB2| 2RY
76,9602 % 16 ¥ 1624631 118,211
oFEU(MAF)EN U AL BELH 2L
o1 76,960 *3H x60 13,853
oAl BE = 132,063, 3602 *5% 6,604
201 L2 | 26,003 25,714 289
01 At 22|l 5,848 5,848 0
cEHYHHOISA 22 N&
5002 *2,00001*23 2,000
oMyD| ZHHSE 2(75L)
1,0402 10000 122 1,248
oBEIIHE 2Y ARE FU(EIEHA S)
200,0002 103! 2,000
oFAI| A= Y M4 79
5,000 x10&*12& 600
02 2324l 20,155 19,866 289
cEHUHIEH HMIIRS
700,000+ 122 8,400
CBUYHOIBY FEHE Ho
12,5003 x710E*13] 875
ST L BIZMEI| S REU
1,6002%150 4 128 2,880
CHALHDIZY AldB2l U ZHISK
5,000&=1,600m 8,000
202 o4t 3,600 3,600
01 201l 3,600 3.600
CHALHOIBY A%
20,0003 «2ZF =90 3,600
206 M=4| 35,000 34,290 710
01 M=l 35,000 34,290 710
odHollE UM SFA4H 2L
5,000,000 » 14! 5,000
CHAUHDIRY TABRIE 2 2
30,000,000& *14! 30,000
HE Y HotsSd 223t 132,000 152,000 A20,000
HY HIosd 22 HAS 132,000 152,000 A20,000
206 =4l 32,000 32,000 0
01 M=l 32,000 32,000 0
ol HIOtSE HOIA(17,64m) BAs &
0 2 20,0003 *1,600= 32,000
401 A& BIZ20HbI 100,000 120,000 220,000
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2A:

ARSI THBH D}

—od

S HEY HOESd ZdAE
o2 EEd oS3 22Nt EEED
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
01 Al&Hl 99,100 119,064 19,964
cEHEH HIOISE =F2el At
99,100,000& 14! 99,100
03 AlE 2 CHYI 900 936 N36
cEYHY HOESE F2el At
900,000& * 14! 900
MEIERATY 3,688,290 2,442,252 1,246,038
= 530,000
= 1,044,875
= 2,113,415
=2 ol MEs @ 24 819,790 873,752 A53,962
JtE st 2e| 200,000 200,000 0
401 A& BIZ20HbI 200,000 200,000 0
01 Al&Hl 200,000 200,000 0
o Jt23tH AlZ2t2| 200,000,000& * 14! 200,000
SHEZ Z2E IR AL 539,790 603,752 A3,962
101 eI H| 154,970 146,841 8,129
M I1RIMZ2Z2XsE+ 154,970 146,841 8,129
ST I QY]
107,0002 x3%H x280! 89,880
ST 1P| A 4T} 2HR
89,830,000& *12% 10,786
ox3F AN ¥ S&EI| &Y
76,960 x7H*90 48,485
o=xstR AT ¥ 25| ¥ 404 EE=
48,485,000 *12% 5,819
201 B2 AL| 16,820 17,311 A4
01 AtR2eltl 11,120 11,120 0
omAM Y2EX 3|
8,0002 x4 Hx160 5,120
oFAAS HE U H4Y S HE
5,000,000 14 5,000
o83 X4 NU2+Y
100,000& x5 *23| 1,000
® Z=2H| 5,700 6,191 A 491
BB £2WR| MAE AEE
100,000& x 123 1,200
oEEY BY ®I| @3
200,000 123 2,400
oEHEZ #3222 7RFRU
1,4002 *150L+ 102 2,100
202 Odt| 8,000 9,600 21,600
01 =WHO4L| 8,000 9,600 A1,600
oFdze HF F&
20,0002 x4 100 8,000
206 =4l 30,000 30,000 0
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A ARiEe g
HH: MEIRELA
elr 22 gilots MEs F &4 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 30,000 30,000 0
ool LM et oM Y
50,0003 %100& 5,000
oEEZH +==acl Hlg 7Y
10,0002 *500% 5,000
oBEY +22| A2E 9
1,000,000& * 102 10,000
cBEY +22 Ha 7Y
5,0002%2,000% 10,000
401 AIEHIX 20HH 390,000 400,000 10,000
01 A28l 370,000 370,000 0
oEEL +=dc| At
250,000,000 *14] 250,000
cEEZL HASLM AY
15,000,000 *43] 60,000
cEEY MY U= AL
15,000,000 *42] 60,000
03 AIZSTHYI 20,000 30,000 10,000
o= FHIYX
500,000 x4+ 10A[ 2t 20,000
dEsE |E 20,000 30,000 10,000
401 Al HIZL 201 20,000 30,000 10,000
01 Al&H| 20,000 30,000 10,000
oddAMN=E 54 # &NEg=
20,000,000& » 14 20,000
JE23 Bt g Ae DBt E 2,868,500 1,568,500 1,300,000
2 530,000
= 1,044,875
= 1,293,625
252 NI LA (HEAY) 1,800,000 1,000,000 800,000
= 990,000
Ea 810,000
401 AIEHIX S0 1,800,000 1,000,000 800,000
= 990,000
o 810,000
01 A28l 1,800,000 993,700 806,300
ocEEZ NYFE =4
1,800,000,000& *14] 1,800,000
[ 990,000
T 810,000
B HU=F 8,500 8,500 0
= 1,875
[Ea 6,625
307 el2to| & 8,500 8,500 0
= 1,875
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SA ARIEH
Hu: MEIEERA
Col MRS A U AQIE JERE (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 6,625
12 2I2HIR & = H| 8,500 8,500 0
SHANSTI} YA DK(102)
850,000 %10 8,500
== 1,875
[Ea 6,625
A0EJE &4 60,000 60,000 0
= 30,000
== 3,000
o 27,000
401 A2 HIRL R 0HbI 60,000 60,000 0
= 30,000
= 3,000
o 27,000
01 A28l 60,000 60,000 0
SADIEIIE ZH(S3AIE)
30,000,000 *2IH 2 60,000
= 30,000
= 3,000
o 27,000
dEaxy =(3d)xd 1,000,000 500,000 500,000
= 500,000
= 50,000
o 450,000
401 Al HIZ S OHbI 1,000,000 500,000 500,000
= 500,000
= 50,000
o 450,000
01 Al&H| 1,000,000 500,000 500,000
o=E0l= 4283 500,000,000 *14] 500,000
= 250,000
== 25,000
= 225,000
cEEAUZ0IE AAZE
500,000,000 x 14 500,000
= 250,000
= 25,000
= 225,000
S AR St 8,620,626 7,505,608 1,115,018
= 2,287,997
= 1,517,748
CH 500,000
= 4,314,881
A 1,090,528 805,711 284,817
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A ARiEe g
I ARG
Rl A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 585,020
=S 99,142
s 406,366
x8 - BH+=XE 71,688 6,688 65,000
201 et 3| 11,688 6,688 5,000
01 At22t2l] 11,688 6,688 5,000
coHHE & EESE MA
500,000 #2042 1,000
osYYY U2EF 3Al|
8,000 x4 +7 L« 12 2,688
SAIRY LJDAID| AN ZA 2HA|
8,000,000 * 14 8,000
401 AIEHIZ SR 0HYI 60,000 60,000
01 Al&HI 60,000 60,000
oxgXl &Y 600,000& »100ha 60,000
SHExd 756,000 515,683 240,317
= 453,600
== 68,040
[Ea 234,360
401 Al HIZL S 0HYI 756,000 515,683 240,317
= 453,600
=S 68,040
s 234,360
01 AlZ8| 719,000 488,683 230,317
oZME A4(105ha) 719,000,000 *14] 719,000
= 431,400
= 64,710
[Ea 222,890
02 Zeltl 27,000 27,000 0
oFMNEXd &l 27,000,000 *14! 27,000
= 16,200
= 2,430
Ea 8,370
03 Al = THHI 10,000 0 10,000
oZNE =4 AlE=Udl
10,000,000 * 14! 10,000
= 6,000
= 900
o 3,100
ZUHR XS 96,378 70,048 26,330
= 48,189
= 14,456
o 33,733
401 AlZHIZ SO 96,378 70,048 26,330
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2A:
PSER
o e

el

>
fon &4

ov g g
> 4 d

P
[Q o 1T

iI

N -8 S2A(SIH) - HRAY - B

Ofl &F2H

HMEE
Ofl &k2h

HoH W

48,189
14,456
33,733

12,050,000 *3ha

MW

11,245,600 *5ha

MW

4,000, 0002 * 14!

MW

92,378
36,150
18,075
5,423
12,652
56,228
28,114
8,433
19,681
4,000
4,000
2,000
600
1,400

66,048

4,000

26,330

OISR M

MW

109,926
54,963
10,993
43,970

110,000

NT4

401 AIZHIYL 20

Mo W

109,926
54,963
10,993
43,970

110,000

NT4

01 AlZH|
SOIMSH X M=

02 Zeltl
oDIMEXINZEE Zeldl

03 Al =2 0HHI
SOIMSEX MRS F0d|

21,185,200& *5ha

HoH W

3,000,000 %14

Mo W

1,000,000 *14]

Mo W

105,926
105,926
52,963
10,593
42,370
3,000

3,000
1,500

300
1,200
1,000

1,000
500
100
400

106,208

3,000

792

N282

208

I
=
N
i
1))
oy
g
o

30,442

26,700

3,742
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SA ARIEH
ZE: MRS
ol ZEAY (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 16,221
=S 3,044
s 12,177
401 Al HIZ R 0HbI 30,442 26,700 3,742
= 16,221
= 3,044
Ea 12,177
02 Zcll 30,442 26,700 3,742
oSM+2 FZ2el(114ha)
30,442,000 * 14! 30,442
= 16,221
= 3,044
Ea 12,177
SMH==2tA 8 g £X 1,694 1,672 22
2 847
= 169
[Ea 678
401 AlZHIZ 2018 1,694 1,672 2
= 847
== 169
= 678
01 Al&H| 1,694 1,672 2
oS S Y2rE AX(2HA)
1,694,0002 %14 1,694
= 847
< 169
s 678
TEH ST 24,400 0 24,400
2 12,200
< 2,440
s 9,760
401 Al HIZL 01| 24,400 0 24,400
= 12,200
== 2,440
[Ea 9,760
01 Al&HI 24,400 0 24,400
oZEtd ST AH61ha)
24,400,000 * 14| 24,400
= 12,200
== 2,440
o 9,760
=AY 3,459,809 4,075,490 615,681
= 1,617,761
s 492,731
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2A:
X XH -
o e

=aak

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

S
0l &y

H

1,349,317

=020

Mo W

2,837,728
1,318,864

395,588
1,123,276

3,073,285

N235,557

Mo

30,000
15,000

4,500
10,500

30,000

01 At2t2lt]
omIRIl ASXel &XE|

S

> 0
0 OH
Ho

2

o

10
S
™ 0
01
>
N
FO
oy

on

20,000,000 x14!

1,000,000 108

Mo W

Mo W

20,000

20,000
10,000
3,000
7,000
10,000

10,000
5,000
1,500
3,500

20,000

10,000

401 AIZHIYL 20

Mo W

2,807,728
1,303,864

391,088
1,112,776

3,043,285

N235,557

01 Al&H|
o AE ML=t (30ha)

o2 LRI (72ha)

o &l LIRIHII(277ha)

o X XIZHI21(500ha)

113,906,000 & x 14!

191,068,000 & x 14!

480,782,0003 14!

627,840,000& 14!

HoH W

HoH W

2,597,728

113,906
56,953
17,086
39,867

191,068
95,534
28,589
66,945

480,782
240,391

2,117
168,274
627,840
313,920

94,176
219,744

2,883,285

N\285,557




S ArRiEe
I ARG
Chelr =IRIIAIY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o ZEXIE=MH(567ha)
984,132,000& * 14 984,132
= 492,066
[ 147,620
T 344,446
=2 Y =R 21 (300ha)
200,000,000 x 14 200,000
02 Zeltl 200,000 150,000 50,000
o= IR A 2ielbl(1,446ha)
200,000,000 *14] 200,000
= 100,000
= 30,000
Ea 70,000
03 AlESTHYI 10,000 10,000 0
o=IHIl A AIEZ 201
10,000,000 * 14! 10,000
= 5,000
= 1,500
o 3,500
AMSIAHIAY 2] EE =IHDI 323,381 418,745 N95,364
= 163,297
= 48,023
o 112,061
101 21A4H| 279,507 372,141 N92,634
= 141,360
= 41,442
o 96,705
MU IIRINZZE2NSES 279,507 372,141 N92,634
o= PIITRAZTAIG 2H (1Y)
23,850,000 x 1 23,850
= 11,925
= 3,576
= 8,349
oHIPIINES 2(62)
143,888,000 * 14! 143,888
= 71,944
= 21,583
[Ea 50,361
oAUl AT 22(59)
108,556,000 * 14 108,556
= 54,278
= 16,283
Ea 37,99%
MBI A= E n=H|(59)
1,250,000& *14] 1,250

- 472 -




A ARiEe g
I ARG
St =AY (St &)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
= 1,250
o=ItRI| IHEE W=HI(6Y)
1,500,000 *14] 1,500
= 1,500
o=IMRIITFATAE WSHI(19)
463,000& x1H 463
= 463
201 fer= 3| 43,874 46,604 A2,730
= 21,937
= 6,581
o 15,35
01 At2teltl 32,874 35,604 N2,730
S RIBIOIQU AR 29
610,4002 5% 3,052
2 1,52
= 458
= 1,068
o= EANE 29
600,0002 1 600
= 300
== 0
o 210
o=IHIIHEE 29
4,870,300 ~6H 29,222
= 14,611
= 4,383
Ea 10,228
02 S3=gHl 11,000 11,000 0
oMEHIOILMAFEH 2
1,000,000& x6H 5,000
= 2,500
= 750
o 1,750
o=IHUIIHEE 29
1,000,000 x6H 6,000
= 3,000
= 900
o 2,100
URed &4 - U228 &1 2SS (HEAY) 27,500 27,500 0
< 22,000
= 5,500
401 Al HIZL 201 27,500 27,500 0
= 22,000
= 5,500
01 Al&H| 27,500 27,500 0
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SA ARIEH
M MRS
Chelr =IRIIAIY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
olLtR2d 27,500,000 * 100 2 27,500
= 22,000
= 5,500
OIMEXINE S2=IH37 ] 271,200 555,960 A284,760
= 135,600
= 27,120
= 108,480
401 AlEHIZ S 0HbI 271,200 565,960 A284,760
= 135,600
< 27,120
= 108,480
01 Al&H| 246,200 530,960 N284,760
SOIMHAINZ S=010]
2,462,000 *100ha 246,200
= 123,100
[ 24,620
T 98,480
02 Zeltl 22,000 22,000 0
SOIMSHANNE SA=IHI]
22,000,000 x 14 22,000
= 11,000
S 2,200
= 8,800
03 A2 THYI 3,000 3,000 0
SOIMZHNNE SA=IHI]
3,000,000 %14 3,000
= 1,500
= 300
= 1,200
SHE AR ZEALS 1,028,839 738,682 290,157
= 17,113
o 1,011,726
2 28 & 2 851,913 563,726 288,187
101 ©1AH| 171,943 86,156 85,787
04 JIZtN2Z2XNSE+ 171,943 86,156 85,787
o2+ Holls LM S
76,7603 x8H 250! 153,520
cAUEE = 163,520,000 *12% 18,423
201 er2 3| 13,770 13,770
01 AtR2telHl 2,600 2,600
otz el HYSE S
300,000 x2EH*13] 600
otz 42| e X
20,000 * 100K 2,000
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A ARiEe g
I ARG
el AR ZLEAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 11,170 11,170 0
oPRIIRS U 4222 REH
1,390&*3,0002| &4 4,170
oFEINRA B =4
400,000 = 1004 4,000
oI =k =
300,000 *102 3,000
202 04l 3,200 3,200
01 =LHN I 3,200 3,200
otz g =X 20,0003 12 »160& 3,200
206 MH=H| 40,000 40,000
01 M=4l 40,000 40,000
oF2tz 4 At=2e| A
5,000& 2, 00004 10,000
o2tz EollEs LM M
60,0002 +500& 30,000
401 Al HIZ 2018 603,000 400,600 202,400
01 Al&H| 600,000 397,600 202,400
oL Z2H Jt2= 2l
10,0002 +30,000== 300,000
oda JZ4 2L 10,000& %30,000%= 300,000
03 Al 20HHI 3,000 3,000 0
otz & g el =4
3,000,000 14| 3,000
405 AHatE = 20,000 20,000
01 MMM ESFSHI 20,000 20,000
oJtz4 & F2E 22lE Edl
1,000, 0002 207K 20,000
AEMHIAER0-CAISKI2e/ 3 (M EAY) 22,226 22,226 0
== 11,113
o 11,113
101 e124d| 22,226 22,226 0
< 11,113
= 11,113
M ORINZZ2NSE S 22,226 22,226 0
o AlsA2c|d AFY
22,226,000& 18 22,226
= 11,113
Ea 1,113
ZLXY At=2el 2,500 2,500 0
201 fet=3| 500 500
01 AtR2t2|HI 500 500
olict® Rz S8 25 NHEEX
250,000 22 500
206 MH=HI 2,000 2,000 0
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A ARiEe g
I ARG
el AR ZLEAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 2,000 2,000 0
olictE R=Z3 2el A
100,000 *20H 2,000
42 Mol eds 40,000 40,000
401 Al HIZ S OHbI 40,000 40,000
01 A28l 40,000 40,000
oMEHFH HHRAZ MAHAMI
40,000,000& 40,000
GHEEA S8 28|18 AFXH 20,000 20,000 0
& 6,000
= 14,000
401 Al HIZL 201 20,000 20,000 0
= 6,000
o 14,000
01 AlZH| 20,000 20,000 0
olHEEHA E3 28|85 XIE 20,000
= 6,000
o 14,000
A=8 MEBHAHE S 22,200 20,230 1,970
201 2= 7,200 7,200 0
2 S524g4l 7,200 7,200 0
oltdFEAE tUE 600 *12,0007H 7,200
401 Al HIZL 201 15,000 13,030 1,970
01 Al&H| 15,000 13,030 1,970
oty FH & Z2AH|(600ha)
15,000,000& * 14 15,000
223 2el 20,000 20,000 0
401 Al HIZ S OHbI 20,000 20,000
01 AlZ2H| 20,000 20,000
oAdRE 2o 20,000,000& * 14! 20,000
dds J2Z 2o 50,000 50,000
401 Al HIZL S 0HYI 50,000 50,000
01 Al&HI 45,000 45,000
o¥ds Fad 2 45,000,000& x14] 45,000
03 Al 2 CHYI 5,000 5,000 0
odds ZaY dcl =M
5,000,000& *14] 5,000
MEHASAHY 3,041,450 1,885,725 1,155,725
= 85,216
= 908,762
CH 500,000
Ea 1,547,472
RS el N e 35,39% 178,335 A142,940
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A ARiEe g
I ARG
Rl AEASAHY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 14,158
=S 4,202
s 17,035
307 @I2to| & 35,395 178,335 142,940
= 14,158
= 4,202
Ea 17,035
02 2B YA HE A 35,39% 178,335 A142,940
ogdts L A 35,395,000 35,39%
= 14,158
= 4,202
= 17,035
= RSIlgxd 38,000 178,335 140,335
= 15,200
= 4,560
= 18,240
402 QI2F X201 & 38,000 178,335 A140,335
= 15,200
< 4,560
= 18,240
02 QI X2 AL EE(OIHTHE) 38,000 178,335 140,335
cgits /FSJIEE A& 38,000,000& 38,000
= 15,200
== 4,560
[Ea 18,240
At S AR Y 25,125 249,450 N224,325
= 10,050
= 15,075
402 QIF X201 & 25,125 249,450 N224,325
= 10,050
Ea 16,075
02 QI XHZ AL E R (01X THE) 25,125 249,450 N224,325
ol HatEH XA 25,125,000& 25,125
= 10,050
s 15,075
ESHESZLE T2 21,410 1,041,475 A1,020,065
= 14,808
s 6,602
402 QI2F X201 & 21,410 1,041,475 A1,020,065
= 14,808
= 6.602
02 QI A2 AL E R (0IETHR) 21,410 1,041,475 /1,020,065
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A ARiEe g
I ARG
Rl AEASAHY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SHEE Yae Mzl (SIIZbIR)
5,630,000& 14 5,630
= 3,762
Ea 1,868
oXEH Air2 THH 22l (ELMHEH)
15,780,000 * 14! 16,780
= 11,046
[Ea 4,734
A A S AT 25,000 55,050 230,050
= 10,000
o 15,000
402 2I2F X201 & 25,000 55,050 /30,050
= 10,000
[Ea 15,000
02 QI XHE AL E R (01X THE) 25,000 55,050 230,050
oMHEH A S WA 25,000,000 *14] 25,000
= 10,000
s 15,000
AHEMEDIS EE ALY 49,520 44,900 4,620
201 el 3,000 2,800 200
01 At22t2lt] 3,000 2,800 200
olMEMH0IE AR=ES
3,000,000 *14! 3,000
202 04dl 1,520 1,600 A80
01 =LHOHI 1,520 1,600 80
o= UWEZ0bI 20,0002 x2& »38& 1,520
401 AIEHIZ SR 0HYI 45,000 40,500 4,500
01 Al 40,000 40,000 0
CNEMEIE RAIES
40,000,000& *14] 40,000
03 Al 20HHI 5,000 500 4,500
o A& 5,000,000& *14] 5,000
SAHEOFE2 LM 47,000 42,000 5,000
= 21,000
o 26,000
101 21A4H| 42,000 42,000 0
= 21,000
o 21,000
M ORNZZ2NSE S 42,000 42,000 0
oAEMEOE 29 HUX
21,000,000& 2 42,000
= 21,000
= 21,000
201 er2 3| 4,000 0 4,000
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SA ARIEH
I ARG
Rl AEASAHY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 4,000 0 4,000
oLEMEOE 28 AlR2ell
1,000,000 x4 71 4,000
202 048l 1,000 1,000
01 2L AL 1,000 1,000
oftEMElE 2 Ol
500,000 ~2H 1,000
Il A5 SME =4 100,000 50,000 50,000
402 BIZtAH=01H 100,000 50,000 50,000
01 QI X2 AL E A (KHMITHE) 100,000 50,000 50,000
ofAS UME XA
100,000,000 14 100,000
SLIOAIZ 28 ANFAS 300,000 300,000
401 Al HIY S CHYI 300,000 300,000
01 A28l 300,000 300,000
o&MLMXZE XelE e 258l
300,000,000 *14] 300,000
ANIIS BEKRE0E AEFAE W2 (ALASEH 1,400,000 0 1,400,000
2J13)
& 900,000
CH 500,000
206 M=l 20,000 0 20,000
= 12,000
CH 8,000
01 MZH| 20,000 0 20,000
SEAEVN | 12,000,000 * 14 12,000
S 12,000
CARTH(XLASEUHEIIS)
8,000,000& *14] 8,000
CH 8,000
401 Al HIZL 201 1,250,000 0 1,250,000
= 800,000
CH 450,000
01 Al&H| 1,250,000 0 1,250,000
SN SIS NESISES
410,000,000 * 14 410,000
=S 410,000
oEY, HEll2 NEE(RLABUHEIIS
) 240,000,000 * 14 240,000
CH 240,000
oY, UH0l= A &bl S
60,000,000& * 14 60,000
= 60,000
o5, HE0S £X Zeldl S(NLLZH
2713) 40,000,000 *14] 40,000
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I ARG
Rl AEASAHY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CH 40,000
oXE2 M2 270,000,000 *14] 270,000
= 270,000
CHET ALSBL(NLLLHSIIZ)
130,000,000 * 14! 130,000
CH 130,000
oHMEael2 €A Zell
60,000,002 % 14! 60,000
< 60,000
SHEBOIZ &N RIBI(NLALHSII2
) 0,000,000& %14 40,000
CH 40,000
405 AHatE = 130,000 0 130,000
= 88,000
CH 42,000
01 ML ESFSHI 130,000 0 130,000
oltESYA 2 FFY
88,000,000 » 14! 88,000
== 88,000
ofMEFYY SEFL(NLLEUSIIS)
42,000,000 %14 42,000
CH 42,000
SICIGIXNIZ XMelE figt EXI0H 1,000,000 0 1,000,000
401 A& HIX R0 1,000,000 0 1,000,000
01 A28l 1,000,000 0 1,000,000
o&LI0AZE Xl FAIL
1,000,000,000& *14] 1,000,000
AHE THOH 24X 6,118,257 7,430,308 1,312,051
= 1,896,548
[ 315,000
= 720,816
CH 1,000,000
= 2,185,893
R R DR N 4,091,618 5,635,157 A1,543,539
= 1,171,401
[ 315,000
= 481,266
CH 1,000,000
= 1,123,951
S AL (H2HE) 450,000 414,287 35,713
= 315,000
== 27,000
o 108,000
401 AIEHIZ R HYI 450,000 414,287 35,713




A ARiEe )
S Ao X
e AEEE|E Ry (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 315,000
=S 27,000
s 108,000
01 Al 435,000 402,287 32,713
o P T AIE (2H 1km) 435,000,000 * 14 435,000
[ 304,500
= 26,100
Ea 104,400
02 Zeltl 10,000 9,000 1,000
oy ald 2l 10,000,000& * 14! 10,000
[ 7,000
= 600
[Ea 2,400
03 AlE S THYI 5,000 3,000 2,000
oY ald AEZ20HYI
5,000,000 * 14 5,000
= 3,500
= 300
o 1,200
LA (MEAE ) (HEAY 207,500 218,000 10,500
[ 144,580
T 62,920
101 @124H| 28,000 26,000 2,000
= 18,984
= 9,016
M IIRIMZZENSES 28,000 26,000 2,000
o2 14,000, 000& »2H 28,000
= 18,984
Ea 9,016
201 et 3| 2,000 2,000 0
== 1,456
o 544
01 At22t2lH] 2,000 2,000 0
oy ae|d 2E 2,000,000& *14] 2,000
< 1,456
s 544
401 Al HIZ S 0HbI 177,500 190,000 212,500
= 124,140
Ea 53,360
01 A28l 160,800 160,800 0
oy 2 80,000,000 *14] 80,000
=S 58,400
s 21,600
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TE: NETHLK
&2l AEFEI|E RS (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oP XIS 80,800,000& * 14| 80,800
= 59,042
= 21,758
02 Zcltl 6,700 6,700 0
oYTAE 2 6,700,000 * 14 6,700
s 4,878
s 1,822
03 Al 20HHI 10,000 22,500 212,500
oY AIZAIY F& 10,000,000 * 14| 10,000
S 1,820
= 8,180
A AL 1,644,451 1,839,534 195,083
= 1,150,675
S 246,573
= 247,203
201 er23 | 630 630
01 AlR 21| 630 630
SLALES NI 2g9iis] Balay
70,0002 x3H+33] 630
401 Al HIZ S OHbI 1,643,821 1,838,904 195,083
= 1,150,675
= 246,573
o 246,573
01 Al&H| 1,600,821 1,795,904 195,083
cHEEEA 193,756,000 * 174 2~ 193,756
= 135,630
= 29,063
= 29,063
oA EAL 241,400,000 #5002 1,207,000
= 844,900
& 181,050
= 181,050
o M XIAFZ ALY 81,000,000 * 100 2 81,000
= 56,700
< 12,150
s 12,180
SAtAIE 2/2EH 220,000 1094 2 2,200
= 1,540
== 330
T 330
oA d M AE 50,000,000 * 1742~ 50,000
= 35,000
== 7,500
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TE: NETHLK
&2l AEFEI|E RS (CH9: &S1)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
[Ea 7,500
oAtgy 2 EZ 2,716,250 x40 2= 10,865
= 7,605
< 1,630
2 1,630
SAMZEANY) RXIBRI A
7,000,000 +8IH 2= 56,000
= 39,200
= 8,400
o 8,400
02 Zeltl 40,000 40,000 0
o AFZAIY 2ield] 20,000,000 *2JH 2 40,000
= 28,000
= 6,000
o 6,000
03 Al 20HHI 3,000 3,000 0
SANZAIY =& 3,000,000& *14] 3,000
= 2,100
= 450
o 450
SHES AL 64,001 161,760 A97,759
101 e124d| 43,001 40,800 2,201
M ORNZZ2NSE S 43,001 40,800 2,201
SARIBZUAIL BRl0l oIH|
1,791,700 «3& +8E 43,001
201 er23| 21,000 20,960 40
01 At2teltl 2,400 1,800 600
SABFAANL 2l ARE P (A, &
A&7 8) 200,000 x 122 2,400
02 S3=gHl 18,600 19,160 A560
oY EhrH
150,000 x65+43] 3,600
oEEetda d 1,700,000 x6= 10,200
SUHEHBANE MRS
100,000 *40H 2% 122 4,800
AEMHAERD-EZ HME X SAHH EALY) 22,226 22,226 0
s 11,113
s 11,113
101 e124d| 21,226 21,226 0
[ 10,613
Ea 10,613
M ORNZZ2NSE S 21,226 21,226 0
o=d ST A 21,226,000&*1 21,226
= 10,613




A ArEiEe
Ha: ARITHOHE

=l &E%%DIQE{S (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 10,613
201 et 3| 1,000 1,000 0
== 500
e 500
01 At22telt] 1,000 1,000 0
oZUSUITA 2
1,000,000 14| 1,000
= 500
= 500
L XL AC-YER SAZ FHI(HEAIY) 104,000 100,000 4,000
S 52,000
o 52,000
401 Al HIZ R 0HbI 104,000 100,000 4,000
== 52,000
2 52,000
01 Al&| 100,000 9,000 4,000
oMED SNZ HHIAY
100,000,000 *14] 100,000
= 50,000
= 50,000
02 Zeltl 3,000 3,000 0
oSttZ A 2elES
3,000,000 *14] 3,000
s 1,500
s 1,500
03 Al 20HHI 1,000 1,000 0
oMEBA SHZ HHIAY XX
1,000,000 14| 1,000
= 500
= 500
Stz =8 i 212,000 402,000 190,000
401 Al HIZ S 0HbI 212,000 402,000 190,000
01 AlZ8| 200,000 400,000 /200,000
oS&Z2 ZHIDI(7IHA, 55km)
100,000,000 * 14! 100,000
oStz AEEs 100,000,000 * 14! 100,000
02 Zeltl 10,000 0 10,000
oS&tz EHDI(Zel)
10,000,000 * 14 10,000
03 Al S THYI 2,000 2,000 0
oStZ AMEEs PR =N
2,000,000 *14] 2,000
STHOH L Xt SHOI(AAIER S ZHOf 2 E) 29,940 28,250 1,690
= 11,976




A ARiEe )
S Ao X
e AEEE|E Ry (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 17,964
101 @1A4H| 25,940 25,250 690
= 10,376
s 15,564
04 JIZtN2Z2XNSE 25,940 25,250 690
SAAIEHE 02 1R (2H)
25,940,000 * 14| 25,940
= 10,376
s 15,564
201 Ler23| 4,000 3,000 1,000
= 1,600
Ea 2,400
01 AtR2t2|HI 1,500 1,000 500
SLHAIRHS B 23
1,500,000 *14] 1,500
= 600
o 900
2 35244l 2,500 2,000 500
SUAIIEEME S 28 RFYI
2,500,000 *14] 2,500
= 1,000
[Ea 1,500
a2 & 2 225,000 240,000 /15,000
N CEEST] 225,000 240,000 15,000
01 Al 218,000 200,000 18,000
cUTES U 2
2,180,000 *100km 218,000
2 221bl 5,000 0 5,000
cota o g
5,000,000 14! 5,000
03 Al =CH| 2,000 40,000 A38,000
cTEa U 8
2,000,000 %14 2,000
AHARER HIGHAI =+ 115,000 115,000
401 AIEHIZ SR HYI 115,000 115,000
01 Al&HI 100,000 100,000
S AEALEH TGH A
10,000,000 1094 2= 100,000
02 Zeltl 5,000 0 5,000
S AHARER T GH A
5,000,000& *14] 5,000
03 AIESTHYI 10,000 0 10,000
S AFARER T GH A
10,000,000& * 14! 10,000
ASPAREHAH & 2 HI T 17,500 9,100 8,400




Araipe g
AFE o X
AMHBAI|BES EER=E)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
= 8,750
s 8,750
401 Al HIZL 01| 17,500 9,100 8,400
= 8,750
= 8,750
01 Al&H| 17,500 9,100 8,400
© SPAFEHRHE ZIHI T (2500 4 )
17,500,000 x 14 17,500
= 8,750
s 8,750
24 9 2(NLLBUHEIIS) 1,000,000 0 1,000,000
1,000,000
401 AIZHIX S0HH 1,000,000 0 1,000,000
1,000,000
01 Al&H| 1,000,000 0 1,000,000
oHZS ~ HHsS SU2 L
1,000,000,000& » 14 1,000,000
1,000,000
ANEES 2,026,639 1,795,151 231,488
= 725,147
== 239,550
o 1,061,942
GMEES g2 = 159,560 74,016 85,544
201 2= 76,560 41,49% 35,064
01 AtR2t2lt] 72,320 37,25 35,064
odtelEs 2= MA
10,000,000 * 14| 10,000
oftEa2R=E Y 160,000 *275% 44,000
oNEES HRFN SEH
8,000 38 120! 2,880
oltEHIMZR 2 =S|
8,000& »4E »170& 5,440
o MBTHHITHRI ZAIZS A (SY, AAEN S)
1,000,000 * 109 2 10,000
02 S3=gHl 4,240 4,240 0
o MERQIZAIDNCE MIIRS
10,0003 »20H A+ 128 240
odtE ofg & N3t F|
500,000 «8CH 4,000
202 04l 3,000 2,520 480
01 =LHA LI 3,000 2,520 480
oNEESs HREX
20,0002 x3&+50& 3,000
401 Al HIZ R 0HbI 80,000 30,000 50,000
01 AlZ28| 80,000 30,000 50,000




SA ARIEH
T NATEHLK
ool AENEES (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SOHE DOIZAl IRt AIAE =
20,000,000 #40H 2 80,000
25 Sl 190,000 230,000 40,000
= 45,000
o 145,000
401 Al HIZ S 0HHI 190,000 230,000 /40,000
= 45,000
o 145,000
01 Al&HI 187,000 228,164 A4, 164
o254 il 3,900,000 x30%= 117,000
= 29,250
s 87,750
oEES OHMBIR| ABEA
30,000,000 * 14 30,000
= 15,000
o 15,000
oESs MIRI|ls SEAMY
40,000,000& *14] 40,000
03 Al 20HHI 3,000 1,836 1,164
o254 UMY 3,000,000 14| 3,000
= 750
[Ea 2,250
LoHENE Al 93,143 92,286 857
= 60,331
= 9,843
o 22,969
401 AIEHIX SO 93,143 92,286 857
= 60,331
& 9,843
= 22,969
01 Al&H| 88,343 87,486 857
£ USR] LIRZEAH(200)
924, 3502 *20ha 18,487
= 11,429
< 2,117
= 4,941
oY E AN LHRFAH25a)
2,178,080& *25ha 54,452
= 37,751
== 5,010
= 11,691
o & =Lt+2H(20na) 173,2002 *20ha 3,464
= 1,781
S 505
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A ARiEe )
2 AETHOHE K
Chel: MENRES (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
[Ea 1,178
= J|EFHH = (10ha) 1,194,000& *10ha 11,940
= 6.010
= 1,779
Ea 4,151
02 Zeltl 4,000 4,000 0
oS 4,000,000 * 14 4,000
= 2,800
= 360
Ea 840
03 Al = THHI 800 800 0
odEtHMNSEM F& 800,000 *14] 800
= 560
= 72
[Ea 168
AETHO L K] EOI(AHEHSHE L) S 124,945 93,780 31,165
= 62,471
= 12,494
Ea 49,980
101 @12A4H| 116,745 86,220 30,525
= 58,371
= 11,674
= 46,700
04 JIZtNZ22 XS24+ 116,745 86,220 30,525
CHZYME 21241 (5)
116,745,000 x 14 116,745
= 58,371
= 11,674
= 46,700
201 fer23| 8,200 5,000 3,200
= 4,100
= 820
= 3,280
01 At2teltl 3,200 0 3,200
colERNE 29 257
3,200,000 14! 3,200
= 1,600
= 320
s 1,280
02 S3=4gl 5,000 5,000 0
oHELMNE 28 FFHI
5,000,000& 14] 5,000
= 2,500
= 500
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A ARiEe )
i MR
SR AENAES (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
[Ea 197,586
201 er23y| 8,448 8,200 248
= 3,380
= 1,520
= 3,548
01 At2teltl 4,448 4,200 248
oftEd e SAH| 4,448,000 *14] 4,448
= 1,780
S 800
= 1,868
02 S3=gl 4,000 4,000 0
o RQIZAl Jtbllet =24
4,000,000 *14] 4,000
= 1,600
= 720
= 1,680
202 0o4dl 3,660 3,400 260
= 1,464
= 659
= 1,537
01 =LHAHI 3,660 3,400 260
oftEdESH] 3,660,000 14! 3,660
= 1,464
< 659
= 1,537
308 AHXIEMSOIH 228,683 203,922 24,761
= 67,892
Ea 160,791
07 MK SHHARE = 228,683 203,922 24,761
oftEASE WS 2 Hot
2,376,000 14! 2,376
oSSR 226,307,000 x14] 226,307
[ 67,892
T 158,415
401 Al HIZ 2018 61,400 11,700 49,700
= 24,560
[ 11,062
Ea 25,788
01 Al&HI 61,400 11,700 49,700
CMEAERLAAEMA
11,700,000 » 14 11,700
= 4,680
< 2,106
[Ea 4,914

8




A AREE D)
ma: NRTHORY

2! XH oH
SR MEXNRAES (SH9 H2)

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

oMt EAZXIZA 49,700,000& x 14 49,700
19,880
8,946
20,874

HH W

>

I

F

405 XAk

Jn

] 14,100 13,711 389
5,640
2,538
5,922

r

HH W

01 ML ESHSHI 14,100 13,711 389
Il 2,400,000 14 2,400

960

432
1,008
=JHel MStEHl 11,700,000 & * 14! 11,700
4,680
2,106
4,914

HoH W

HoH W

A XICHEH (RE2H) 20,900 62,400 241,500
8,360
3,762
8,778

Mo W

201 2= 3,900 3,900 0
1,560

702
1,638

Mo W

02 S3=4gl 3,900 3,900 0
OMSASRTAIAE SAIZ(300H)

3,900,000 14 3,900

1,560

702

1,638

MW

>

r
I

405 Kbat

[SHI 17,000 58,500 A41,500
6,800
3,060

7,140

MW

01 AL ESHSHI 17,000 58,500 A41,500

17,000,000 * 14! 17,000
6,800
3,060
7,140

Mo W

HEH =30 X2 3,751 3,751 0
1,875

W
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2A:
PSER
o e

el

CFB SIS - MRAY - BES

Ofl &F2H

HMEE
Ofl &k2h

A H

563
1,313

HH W

3,751
1,875

563
1,313

3,751

=2

AL (1500 2)

3,751,000& 14

HH W

3,751

3,751
1,875

563
1,313

3,751

HH W

397,343
222,660

42,405
132,278

339,125

58,218

401 Al HIZL S 0HYI

MW

397,343
222,660

42,405
132,278

339,125

58,218

01 AlZHI
oIl DAFS MIAH

o= AHEHIA

SOl LLIRFAL

02 Zteltl

oM&dEE LHMA

98,5002 «407=2

S0 HAAE

50,000& *2,0002

50,000& 2,0002

108,477& 2872

2,853,000 *40ha

10,000,000& * 14!

HH W HH W MO Mo W

HH W

385,343
40,090
28,063

3,608
8,419

100,000
20,000
80,000

100,000
70,000

9,000
21,000
31,133
21,793

2,802

6,538

114,120

9,404

5,915
13,801
10,000
10,000

330,625

7,000

54,718

3,000
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SA ARIEH
T NATEHLK
ool AENEES (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 7,000
=S 900
s 2,100
03 Al 20HHI 2,000 1,500 500
STMHES YH 2z
2,000,000& *14] 2,000
= 1,400
== 180
o 420
AULRF 0IsHsS 91,240 87,560 3,680
= 45,620
s 13,686
s 31,934
101 e124d| 80,240 73,560 6,680
= 40,120
= 12,036
o 28,084
04 JIZtN22 XS+ 80,240 73,560 6,680
o AURROISESEE Q121H|(49)
80,240,000 * 14! 80,240
= 40,120
= 12,036
[Ea 28,084
201 et 3| 11,000 14,000 A3,000
= 5,500
= 1,650
Ea 3,850
01 AtR2t2|HI 3,000 6,000 A3,000
o0lstHs 24 3,000,000 %14 3,000
= 1,500
= 450
= 1,050
02 S3=gHl 8,000 8,000 0
ollsHE RFH S
8,000,000 * 14 8,000
= 4,000
= 1,200
Ea 2,800
A HIDIZ Xel 20,000 20,000
401 Al HIZ R 0HbI 20,000 20,000
01 AlZ28| 20,000 20,000
SMEHIIEX ] S|
307,690 *65& 20,000
AH2I3H(MHEHL) 77,858 84,501 6,643
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S ARIES D
M HAPAZH|(AZTEED)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
el 2| 52,891 62,164 9,273
el 24| 52,891 62,164 A9,273
101 @124H| 52,891 62,164 9,273
01 2= 49,952 59,141 A9, 189
S A2 Al
11, 1302 x 172 +22A| 24+ 123 49,952
02 JIEtAE = 2,939 3,023 PaN: !
SAIIRAZRARHEIIH 784 <)
11, 1302 x 1 +22A1 2t 123 2,939
Jl=3H 24,967 22,337 2,630
Jl=3H] 24,967 22,337 2,630
201 er23| 19,927 16,997 2,930
01 At2t2ltl 18,700 15,980 2,720
oLXNE=AD] EH
250,000 x1CH+53] 1,250
oE=AD| R Zely &Y
250,000 x4 CH =43 4,000
oSAEX 7 25,0003 102t A% 123 3,000
ocdI¥sE 7Y 150&*5,0000H 750
SH2A=E 4,800
-S2Al 20,0008 x62x 122 1,200
XX 15,0002 x205 128 3,600
SARA HAI| M
5,000&+x20S 122 1,200
<JIEt ARES 7Y
20,0002 x105+ 122 2,400
o= 22 400,0002 1CH 400
oIZelHI| 2l 300,000 «3CH 900
2 S5=24g4l 1,227 1,017 210
oREeI (L) 4302 50021 215
cRERI(SII) 2,530 *40021 1,012
203 HR=AY] 5,040 5,340 A300
MU FA2SHIFLI 5,040 5,340 A300
o302l =1t
(400,0002+(5,00024 4% ) )+ 122 5,040
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